Solutions to smp-3914-2/HUMQ

Worksheet
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Problem quickname: 3914

1)

Measure the length of the line segment exactly to the millimetre.

a)

5

Yy

Length of line segment: 7cm

www.dw-math.com

Page 1

07/13,/2019

smp-3914-2/HUMQ

Quick:
3914



Solutions to smp-3914-2/HUMQ

b) ;
BTt 4
3
2 |
1
;
-5 -4 -3 2 -1 1 2 3 4 5
—1
A+ —2
—3 |
—4
-5

Length of line segment: 6cm

2)
Measure the length of the line segment exactly to the millimetre.
a) 2 5 b) 2 5
1 1
2 -1 1B n2 :2 -1 1 n2
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—1 F =T
—2 -2
Length of line segment: 3.2cm Length of line segment: 3.2cm
C) 2 % d) 2 %
A B
I i 1
—92 —1 1 2 —}2 -1 1 2
—31 f?‘ —1 I?
—2 —2
Length of line segment: 3.1cm Length of line segment: 2.7cm
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e) 2 % f) 2
A B ;
' A B
-2 ) —2
Length of line segment: 2.9cm Length of line segment: 3.2cm
3)

—Z Quick:
3914

Measure the length of the line segment exactly to the millimetre.

a) 6

A 1 2 s 4 s e
Length of line segment: 6.7cm
b) 64

T T T T T
1 2 3 4 5 6

Length of line segment: 5cm
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C) 6
5 BTt
3 |
2 A4
1

L 2 s 456
Length of line segment: 3cm
47) Quick:

3914
Measure the length of the line segment exactly to the millimetre.

a) K b) 4 %
3 3 B
A B I
—
2 2
A
1 1
L 2 s 4 2 s 4
Length of line segment: 1.4cm Length of line segment: 1.2cm
C) 4y d) a4
3 3 B
A B
2 2
A
1 1
L 2 s P
Length of line segment: 1.6cm Length of line segment: 1.3cm
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e) 44 f) a4y

3 3
B

2 2 ‘|’

A B
1 A 1 A
L 2 s a4 r s s 4
Length of line segment: 1.3cm Length of line segment: 1.2cm

Good Luck!
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